= Wi
Wyz'26 = TS'ET + 00'OT + 08’9 + 05’6+ 00'TT + 00'Z + ZV'OT + 00'6 + 002 + 00'L | ¥2'6 w . -...... A 09z°Z1'9% nHas ve
sWIS'EZ= 50°0 X ¥T°0LP
tWHZ'0LY = bZ'L6 + D0'ELE ‘ y : -
w w2 0T @p einssadse ‘epe: espad ap od3s .
226 = (RINBIRI)OO'T X ¥2'L6 15'ee £ 01 2p peiq elpad sp ouise] 0rP0'81'11 nHao? 33
00’ese = (eunbuie))po’z x 05981
3gvaINn T 1 aINN 9jUSISX® A\d W 0gn3 ap Ogoebr] T0YDISOdWOD NHAad (33
W eb' 195 = 2 X vL'E8T
+/'€82 = 05'S6 8b'/95 w OPEIUBLLEID 310D 3P 0ISIP WOoD BaJe ap oededlewaq 0L0°€2'T0 nHas 1€
+00'T6 + ZS'ET + 00'9T + 08'9 + 05’6+ 00’11 + 00'Z + T¥'0T + 00’6 + 00'L + 00°L
Omw!_.z(._nln NHAas 0'E
) mEmo.‘mmw. = Nw.Omm +92'22 ) W oZ © 938 OBYUILIED
€WZ8'0TZ = 05'98T X Zv09'0 X $T'E WWIO08 = @ 80'€ET el 10d 11068383 o7 B g P 0|0S op spOdsURLL 020'01'50 nHas 9T
eWOZ'ZZ = ¥2'46 X T LZ'0 X $T'E WWO0y =a
.. EWBQ'EET = Z8'01Z + 92'ZZ , elobages
€WZQ'0TZ = 05’981 X Zv09'0 X $1'E W08 = d 80°EET e o2 ® o BP [0S P OPEZIUEIBW OUBLIEBBLIEY 070°'07'S0 nHAaos ST
€WOZ'ZZ = $2°L6 X TvLT'0 X $T'E WWOOP =
cWpg'SeTT = (ojuswejodwa) o%0€ + 88'616
cWEB'616 = BO'EET ~ 96'ZSTT
cWBQ'EET = Nm.o.ﬂm +9z'ze F
eWZ8'0TZ = 05'98T X Z+09'0 X +1'c Wwos = a Jopejoeduwiod wed . .
eWO7'ZZ = $2'26 X ZwLZ'0 X '€ WWQOt =d ¥8'S6TT gkl BARD NO B|EA P OPEZIUBIBLW OPEIIRALIC) 0118383y 020'T1'20 nHad L4
eW96'ZSTT = 98'SHT + 01'£00T
eW9g'sHyT = (B4n3e ) 0S'T X 00'T X ¥Z'L6) WWOOk = a
€WOT’'£00T = (Bamyje) 04’7 X 00T X 05'98T) WWOE = 4
. ' A N f " f ' . | . wl |ewdou 103004d op 8|043uod wWas ‘spiHadns o i
tWHZ'0L = ¥T'L6 + 00'ELE  $2'46 = 00°T X $Z'L6  00'ELE = 00'T X 05'981 ¥2'0Ly z ap epez|uedaw opdepedwios e ogseziie|nbay 010'10'¥S nHas €T
‘zWZ8'86ZT = ZL 162 + 0T'L00T
WZL162 = 2’26 x (0S'T + 0§'T) wwook = d 78'9621 W 0NUJIU0IS3P 0]0S BP 0JUBLLIRI0IST 0%0'10'80 nHajs T
2WOT’'£00T = 05'981 X ( 0£'2+04'27) wwoos = A
'gW96'ZSTT = 98'SPT + 012001 ‘W £ 938 3p pepipunjoId
4 -t 4 ’ i - o # . . .
EW9B'SHT = (eame ) 0S'T X 00'T X $Z'46 = Wwiooy = Q 96'Z511 ew WIOD SEARD NO SE|EA 3P BPETIUEdBL ORSBAEIST 0v0'20°'L0 NHaos T
eWOT 2001 = (BJn3je) 0L'Z X 00‘Z X 05'98T = WWQEO8 = A
0705 30 OLNIWIAOW 0¢
WHZ 0Ly = 2’26 + 00'ELE ‘ojuswebaliedsep 8 oaawWQ|inb T 338 exlodsuen
Wpz’L6 = (eanbie| ) 0O'T X PT'HZ'L6 WWOOP = P20y W ‘ojuswebalies sAisnpUl ‘03)3jpsse ojuaWiARd 010°£0'E0 nHas €T
a zWoQ’eLE = (eanbuel) 00’z x (05'S6 + 00’16 +) WwpE = A ap epeziuedsw (ojuaLueIueAB|) ogdijowaq
Wi /'E8T = 05'66 " — i
w ogdez|jeued ep apaJl ap 0gdeno
+00'T6 + ZS'ET + 00'9T + 08’0 + 056+ 00’11 + 00'L + Z¥'OT + 006 + 00'Z + 00°L ¥L'€82 e5ez|| p @paJ ap 0g3ed0 0¥0'01°20 nHas '3
-W00‘S = 00'E X 00’ 00’9 W e4qo esed og5edyiauap| ap eseld 0¥0'80°Z0 nHas T
SIYVNIWITIUd SOIIANIS o't
oTnd1Yd *ANVND IAVAINN W3LI 091492 oN
OYOvH3INOSIA/S T8T NHAD : SVIONIW3I3Y

'YASIINYd VISNNI 30 OId]DINNW OQ LNVLSNOD WIWVINIE YNy 3 YATIS VA YHI13uad
T3ANDIW SYNY SYN SIVIANT SYI¥ITYO 3Q 3AVAINNILNOD 30 OYOVLNYIdWI 3 OYIINLLLSENS

TOLNIWIAONII¥dWA

OYAIH34 - SOJIYATIH SOS¥NJI3IY 3a TVYNAVYLS3I OaANNd

dS - V1SINYd YIENNI 30 TVdIDINNW YHNLI343ud

‘HOavYHWOL

FANIIEWY OI3KW 3
VHNLNYLSIVHANI 30 YIHVLIHI3S

OdW 0dQ IIIA OX3NV

071NvYd OVS 3d 0av.lS3 Od ONH3IA0D




S66.910220€TLZ0BT oV LYY
BEEQEE0L0G VIHO
sado seye.l4 JobiH ueneyy

IIAID odieyualuy - ODINDZL TIAYSNOJSIY

SOJUES S0P S8.eQS 0po[

ledpiuni 032484d - T¥OI N1

' P ediW 02 =X2J 3p 3 El g .
elg9’0 = ¥0'0 xm.ﬂ £t 89’0 e Woo s8|dulls 038.5U03 Wa oipenba. WO 0Sld 0£0°50°4T NHAd v's
’ ’ ‘ ‘ ] w Bdl §7 24 W02 03=JoU0d o .
eWsy’0 = 80'ZT X 01'0 X O¥'0 8¥'0 £ We JdSid odi /|e3o] ou opepjow ogiefies no eyalieg |  OL1'90'PS nHAad £'9
W g0z =822+ 0L’ + 01°2 80'ZT w BdiW SZ 24 - 00T dSkid 0d1} e3aJ epepjow-p.d eing 0v0°'90'vS NHa2? 9
. ., |elulou 103201d Op @]0Jjund Wies 'epiHadns . B
fWZT LT = o1=loid apia ojuawieS|ed epeIndIaxa Jas ealy [AAS (4% p epeziuedaw ogSepedwod s ogSezuenbay 0T0'T0'¥S NHAa2 19
vaviivd 09
eWZZ'ES = SE0'0 X §9'0251 o)
ngo - eusnb opeuisn
ZWM59°0ZST 8303 OLIGIRWIOS TT'ES el SSOUILLINGSE CYROUED LR oiLsiRIc B SRR 0TZ'EQ'¥S nNHAas s's
00'8Z£=00'8X00"16 §9'26£=0£'8%X05'566 RS " ' R =
P20 = $2'L6 + 00'ELE
WpZ'L6 = (einbie) ) 00'T X ¥246 WWOOE = A ¥Z'0Ly W ajuez||igeawaadil| esoulwniag ogdewduw] O¥Z'E0'PS nHAo» v's
zwo0’eLE = (eanbue|) 00'z X ( 05'G6 + 00'T6) WWQO8 = A
7WS9'0ZST (€303 olgIewios . w 2jueb)| esouiuniaq ogsewdw ‘€0’ |
00'82£=00'8X00"16 59'26£=0E"'8X0S'S6 §9°02ZST T 3 i iwnjaq og I 1 QET'E0'¥S nHalz £'S
zWS9'0ZST 2303 ojg3ewos f w ojuslueadedas esed ojuawiaed ap og5lLe ‘10° .
00'82£=00'8X00'16 S9'264=0€'8X05'S6 59'0Z51 z 1 I p oghluen 0T#'10'%S AHAd 4]
TWPZ'0LY = $2'L6 + 00'ELE un 1 ep ofed 0 e apodsuel)
W2 L6 = (BINBIR) 00'T X $T'L6 WWOOY = Q vZ'oLy zw @ Nd 0P %56 ®p OwIujw 031@|gns op ogdepedwod 0E0'T0'¥S nHas '8
woo’cse = (eunbie)) o'z X (05's6 + 00'T6) WWQOS = Q ‘wd o I8 ex|ed ap odeded & einuaqy
VOLL1y45V 0YJ150dnW003d 0's
090 X 0O'T BYI3ID - WL SBPEPIUN OZ 00’02 piun 09’0 X 00'T @p epeINJ|ME 0118 Bp BUJRID T O«uHmOn_EOU nHalz s
. TNY 052 < eamdni) 0GZ O B5SepP . .
sapepiun z 00z piun ‘W 009 BP OIBLIEIP ‘OPIPUN; Gia) W ogdwel 0T#'90'6¥ nHAad vy
- s , i 0503s8d - wo g/ ouIBIU| OJJBWEIP ‘eURUBAIR _— .
wop'z = 0ZT + 02'T or'z Wd dSWd odi BAISIA ap 050d eted puiLeYD 0z1'Z1'6% nHa’» £
sapepiun ’ piun 03210U02 = :
pepiun o1 0o0‘0t ! 9P #dWEy W dSid odi3 BIdnp 0o) 8p ©30a 0E0'ZT'6¥ NHAd (44
sapepjun z 00'z plun dSWd 0di3 - W 09T X 09T X 09T Bp eIsIA ap 0dod OTIT'ZT'6% nNHAas? '
W3DVSSVd 30 0YIV.LIdVD 30 OALLISOdSIA nHAad? o'y
ww
wps‘e8T = 05'S6 + 00'16 05981 w ity 091219 nHas S'E

=NQ ‘Z-Vd 85SB|2 OpeLUIR 03242u0d 8p SoqnL




